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Fig. 4-1a   Production of single output Y using single input X

Fig. 4-1b   Fixed cost
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Fig. 4-2a   Variable costs

Fig. 4-2b Average total costs

Average total costs (ATC)

Average variable costs (AVC)

Average fixed costs (AFC)
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Fig. 4-2D: Minimum Input Constraint
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Fig. 4-2C: Economy/diseconomies of Scale
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Fig. 4-3b   Firm LR and SR profit

Fig. 4-3a   Firm SR profit-max output
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Fig. 4.4  LR and SR average cost curves
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Y=min{x1,x2}=100

Y=min{x1,x2}=50

Y=min{x1,x2}=200

Fig. 4-5(a) Complements

Fig. 4-5(b) Substitutes

Fig. 4-5(c) Cobb-Douglas

Y=x1+x2=100

Y=x1+x2=50
Y=x1+x2=20

Y=x1*x2=150

Y=x1*x2=100

Y=x1*x2=50

Slope = dx2/dx1 = -MP1/MP2
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Fig. 4-6 Iso-cost curves

Iso-cost: C(x1,x2) = w1x1+w2x2 = K

(slope = dx2/dx1 = -w1/w2)

Isoquant: y=f(x1,x2)=100
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Iso-profit: P1Y1+P2Y2 = K

Fig. 4-7 Iso-profit curves


